
10th- (Mathematics) 

 

1 From the  given construction, find AP:AB. 

id`qI geI rcnw qoN AP:AB pqw kro: 
 

1) 3:2                  2)      3:4    3) 3:5        4) 2:3   

 

 

 

2) In the given figure, PA and PB are tangents to the circle 
with centre O. If ∠APB = 60°, then calculate ∠OAB,      
ic`qr iv`c PA  Aqy PB c`kr vwly O kyNdr dIAW sprS ryKwvW 
hn[jykr ∠APB = 60°, hovy qW ∠OAB pqw kro[ 

      1) 60°      2) 45°      3) 30°        4) 50° 
 
 

3)  If the area of an equilateral triangle is 16 3 cm 2   then what is  the   

      perimeter of the triangle ?         ਜੇਕਰ ਸਮਭੁਜੀ ਤ੍ਰਿਭੁਜ ਦਾ ਖੇਰਰਫਲ  16 √3 ਵਰਗ ਸਮ ਹੈ , ਰਾਂ 

ਤ੍ਿ੍ਭੁਜ ਦਾ ਪਤ੍ਰਮਾਪ ਕੀ ਹੈ ?       

         (a) 8 cm            (b)  16 cm               (c) 24 cm             (d)  32 cm 
 

4. . Observe the given construction carefully and find the  length of AC’. 
id`qI geI rcnw nUM iDAwnpUrvk dyK ky dw mu`l pqw kro: 

1) 3 cm   2)  6 cm   3) 6.5 cm     4) 2.5 cm 

 
 

 

5) In the given figure, O is the centre of a circle, PQ is a chord and PT is the 

tangent at P. If ∠POQ = 70°, then calculate ∠TPQ   

id`qy gey ic`qr iv`c c`kr ijsdw kyNdr  O hY, dI ie`k jIvw PQ hY Aqy ibMdU  P  ‘qy 
ie`k sprS ryKw  PT hY[ jykr ∠POQ = 70° hovy qW ∠TPQ pqw kro [ 

1) 50°        2)  45°           3) 35°      4) 55° 

6.    The sum and the product of the equation x2+ px + q = 0 are  4 and – 3         respectively. Find the 

values of p and q .        ਸਮੀਕਰਨ  x2+ px + q = 0  ਦਾ ਜੋੜ ਅਤੇ ਗੁਣਨਫਲ ਕਰਮਵਾਰ  4  ਅਤੇ -3 ਹੈ , ਤਾਾਂ   

        p ਅਤੇ  q ਦਾ  ਮੁੁੱਲ ਪਤਾ  ਕਰੋ l 

       (a)  4 and 3        (b) – 4 and – 3          (c)   – 4 and 3        (d)  4 and – 3 
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7.    From a point A , the length of tangent to a circle is 24 cm and   distance of from the 

centre is 25 cm. Find the radius of the circle.      ਇੱਕ ਬ ਿੰ ਦੂ  A ਤੋਂ , ਜ੅ ਚੱਕਰ ਦ੃ ਕੇਂਦਰ ਤੋਂ 25 ਸਮ ਦੂਰ ਹ੄ 

ਅਤ੃  ਚੱਕਰ ਦੀ ਸ਩ਰਸ਼ ਰ੃ਖਾ ਦੀ ਲਿੰ  ਾਈ    24 ਸਮ ਹ੄ । ਚੱਕਰ ਦਾ ਅਰਧ ਬਿਆਸ ਩ਤਾ ਕਰ੅ । 

       (a)  7cm         (b) 17cm     (c)  49cm       (d) 25cm 

 

8.   If radii of two concentric circles are 5 cm and 3cm  then the length of each  
      chord of one circle which touches the other circle is 

     ਦ੅ ਸਮਕੇਂਦਰੀ ਚੱਕਰਾਂ ਦ੃ ਅਰਧ ਬਿਆਸ 5 ਸਮ ਅਤ੃ 4 ਸਮ ਹਨ । ਿੱਡ੃ ਚੱਕਰ ਦੀ ਉਸ ਜੀਿਾ ਦੀ ਲਿੰ  ਾਈ 
      ਩ਤਾ ਕਰ੅ ਜ੅ ਬਕ ਛ੅ਟ੃ ਚੱਕਰ ਨੂਿੰ  ਸ਩ਰਸ਼ ਕਰਦੀ ਹ੄ । 

       (a) 4cm      (b) 6cm       (c) 8cm          (d) 2cm 

 

9.   How many tangents can a circle have ? 

     ਇੱਕ ਚੱਕਰ ਦੀਆਂ ਬਕਿੰ ਨੀਆਂ ਸ਩ਰਸ਼ ਰ੃ਖਾਿਾਂ ਹ੅ ਸਕਦੀਆਂ ਹਨ  ? 

       (a) 1            (b) 2           (c) 3         (d) infinite ( ਅਨਿੰ ਤ ) 

10.   If two tangents of a circle of radius 3cm are inclined at an angle of 60°  then    

         what is the length  of tangents ? 

      ਅਰਧ ਬਿਆਸ 3 ਸਮ ਿਾਲ੃  ਇਕ ਚੱਕਰ ਦੀਆਂ ਦ੅ ਸ਩ਰਸ਼ ਰ੃ਖਾਿਾਂ ਜ੃ਕਰ ਆ਩ਸ ਬਿਚ 60° ਤ੃  

        ਝੁਕੀਆਂ ਹ੅ਣ ਤਾਂ ਸ਩ਰਸ਼ ਰ੃ਖਾਿਾਂ ਦੀ ਲਿੰ  ਾਈ ਕੀ ਹ੅ਿ੃ਗੀ  ? 

        (a) 3 3 cm        (b) 3 cm      (c) 6 3 cm       (d)    6 cm 

11) If the sum of first 20 even natural numbers is equal to k times the sum    of 

first 20 odd  natural numbers, then k is equal to : 
    ਜੇਕਰ ਪਤ੍ਹਲੀਆਂ 20 ਤ੍ਜਸਰ ਸੰਤ੍ਖਆਵਾਂ ਦਾ ਜ੉ੜ 20 ਟਾਂਕ ਸੰਤ੍ਖਆਵਾਂ ਦੇ ਜ੉ੜ ਦਾ k ਗੁਣਾ ਹ੉ਵੇ , ਰਾਂ   k  ਦਾ 
ਮੁੁੱ ਲ ਪਰਾ ਕਰ੉ l 
       (1)                     (2)                   (3)                   (4)     

 

 

 

                                                    ਤਤਆਰ ਕਰਤਾ :  ਅੰਤਮਰਤਸਰ ਮੈਥ ਟੀਮ 


